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QUESTION 1

Within the web script descriptor file, which tag controls if a dashlet should show up on the user dashboard and/or the
site dashboard?

A. region
B. family
C. type
D. url

Correct Answer: B

QUESTION 2

What does it mean when it is said in Solr indexing that the index is "eventually consistent™?
A. The index will only be consistent after a server restart.

B. The index will become consistent when there are no more transactions to index.

C. The index becomes consistent once a day when the index job runs.

D. The index can only be consistent when the Lucene index job eventually runs.

Correct Answer: B

QUESTION 3

Select two ways to audit Alfresco Content Services events in an Alfresco Content Services extension? (Choose two.)
A. Mark a method in the extension with an @Auditable annotation.

B. Open a connection to the database and write the audit information to the audit tables.

C. Inject AuditComponent into the extension and call recordAuditValues.

D. Use the Alfresco REST API to record an audit event.

E. Call the Java Audit Service.

Correct Answer: DE

References: http://docs.alfresco.com/6.0/concepts/audit-intro.html

QUESTION 4
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What does the CMIS object model not support?
A. versioning

B. workflow

C. policy

D. document

Correct Answer: B

QUESTION 5

When testing an Alfresco Content Services extension under high levels of concurrency, you notice that some
transactions are failing due to locking issues with the database. What is an appropriate way to resolve this?

A. Manually unlock the offending records and start the testing again.

B. Directly use Alfresco\\'s database connection pool and write your own SQL.
C. Use the RetryingTransactionHelper to retry code that fails due to locking.

D. Rewrite the queries used by your application to reduce the chance of the lock.

Correct Answer: A
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